00000000 U o0 (6)

20080 120 19000

1 00 FourierOOOOGOOOO

i)

ii)

iii)

iv)

~L<z<LO000 fz)=e* 00000000 2L 000000 Fourier 00
0oo

n=-—o00
00000oDooOoOo0Oo000000O kO k>000000

0<x<TOO000 f(r)=% 00000,00 TOOOODODODDDOOOOO,
O0000 Fourier U0 O O0OD0OO0OD00ODOOe0DOODODOODOO

0<zx<10000 f(x) =Asin7z 00000, 00 100000000000
Fourler 00 0O0O0OO0ODOOODO AODODODOOOOOO

—-L<x<LO0O0O0O f(z) ODODODODO, |2/ >L0O000 2L 000 FourierJ OO
000 Parseval 0 0O

L [e'¢)
5 | Farde= 3 el 2)

n=—oo

00 Fourier OO0 Parseval D0 OO O0O0OOO0OOOO0O0OO

acO0000O00OOOC0OOOOOOO f(x):ei‘“”, (—r<z<m), (00 2r) 000
Fourler U0 O OO0O0O0OO0O0O0O Parseval DO OO OOODO

[oe)
1 72

Z (n —a)? " sinZan

n=—oo

000000000000 00000 f(z)DOODDODOOOOParseval 00000

L oo
5 [ @R = 3 fef Q)

n=—oo

goooooooooogn



